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LITERACY 
 
Question 1 - select the word or phrase that correctly completes the sentence. 
 
The nurse left the patient records ______ the hospital. 
 

a) by 
b) on 
c) into 
d) unto 
e) at 

 
Question 2 - which sentence is correctly completed by the word angel? 
 

a) The day of Mary’s accident a guardian ______ was protecting her. 
b) You have to hold your pen at the right ________. 
c) The fishermen _______ everyday for a living. 
d) A hook for fishing is called an _________. 
e) The nurse felt very ________ at the doctor. 

 
Question 3 - select the underlined word that is spelt incorrectly. 
 
The person desided to put all her clothes in the bottom drawer of the cupboard next to the 
window. 
 

a) desided 
b) clothes 
c) drawer 
d) cupboard 
e) window 

 
Question 4 - which word has the same meaning as the word that is underlined? 
 
The person is seriously ill. 

a) amicably 
b) difficultly 
c) fatally 
d) gravely 
e) negligently 

 
Question 5 - which underlined sound, is the same as the underlined sound in the following 
word? shone 
 

a) goose 
b) pond 
c) owl 
d) tour 
e) phone 
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The following article was published in a local newspaper. Read the article and then answer 
questions 6 to 10. 

 
 
Restaurant in damage control 
The newly established Restaurant in a popular shopping strip is facing enormous problems. 
 
No less than five patrons developed food poisoning within a week of its doors being opened to the 
public. The local health Inspector is investigating after receiving complaints from family and friends 
of the victims. 
 
The Restaurant Management is in damage control mode and is pointing fingers at suppliers for 
delivering unsatisfactory food. A reliable source pointed to poor procedures relating to maintaining 
food hygiene. The Restaurant will be shut down until the investigation is completed. An 
investigation by the local council is yet to be completed. 
By Tim Nash 

____________________________________________________________________ 
 
Question 6 - how many patrons were infected in the first week? 
 

a) less than five 
b) approximately five 
c) more than five 
d) exactly five 
e) five or more 

 
Question 7- who is investigating? 

 
a) family and friends 
b) concerned patrons 
c) Restaurant Management 
d) the Health Department 
e) the local health Inspector 

 
Question 8 - the source who mentioned a possible reason is… 
 

a) undependable. 
b) satisfied. 
c) reliable. 
d) trustworthy. 
e) dishonest. 

 
Question 9 - “The Restaurant will be shut down until … 
 

a) the management opens the doors.” 
b) the investigation is completed.” 
c) it is sterile.” 
d) the patrons are well.” 
e) it is convenient.” 
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Question 10 - which one of the following options completes the sentence to make a true 
statement? 
 
The food that suppliers delivered is unsatisfactory because it is … 

a) hazardous. 
b) concerning. 
c) decreasing. 
d) healthy. 
e) hygienic. 

 
 
 
Written Text - In the space provided on the Student LLN Answer Sheet please write a 
paragraph (approx 50 words) on what you wish to achieve from undertaking your new course. 
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NUMERACY 
 
 
Question 1 - what units would be best to use to measure the weight (mass) of an egg? 
 

a) kilograms 
b) millilitres 
c) centimetres 
d) grams 
e) milligrams 

 
Question 2 - which one of the following numbers is between 0.01 and 0.02? 
 

a) 0.11 
b) 0.011 
c) 0.0011 
d) 0.00011 
e) 0.000011 

 
Question 3 - if there are 300 calories in 100 g of a certain food, how many calories are there 
in a 30 g portion of this food? 
 

a) 90 
b) 100 
c) 900 
d) 1000 
e) 9000 

 
Question 4 -  what is the correct answer for following:    - 2  X  4 = 

 
a) 0 
b) 2 
c) -8 
d) 8 
e) -16 

 
Question 5 - the simplest form of =  
 

a) 2 1/2 
b) 2 1/6 
c) 2 1/19 
d) 3 1/3 
e) 3 1/6 

 
Question 6 - what is 30% of 100? 
 

a) 10 
b) 30 
c) 33 
d) 40 
e) 270 
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Question 7 - from the graph below, which segment represents closest to 25%? 

 
 
a) Red 
b) Lilac 
c) Green 
d) Orange 
e) Blue 

 
Question 8 - a flavoured cordial drink is in the ratio 1:4. How many millilitres of water will a 
200ml drink contain? 
 

a) 100 
b) 125 
c) 150 
d) 160 
e) 175 

 
Question 9 - the temperature reading on the thermometer, accurate to the nearest 
degree in degrees Celsius is: 

 
a) 20 
b) 21 
c) 22 
d) 23 
e) 24 
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Question 10 - a patient had a pulse rate of 98, 96, 97 and 93 on four occasions. The patient’s 
average (mean) pulse rate was… 
 

a) 94 
b) 95 
c) 96 
d) 97 
e) 98 

 
 
 
 
  

 


